INFEEBDER

AJOvy e6i4& Ea—bk
/NS ryy | ZIRINRS—|[=iRivFEYaB| BINGAT mE/hEn i B B/RbybE BEREE |(IBAL
14— 16 15— 8 4— 15 15— 8 —  3|131 — 120
/NSy s 215— 11 1/ 215— 12 0/ 1 16— 14 2/ 215— 8 0 3—1 2
7 2.33333333 |1.091666667
15— 13 — 7— 15 _
16 — 14 16 — 14 5— 15 15— 4 4 — 6/126 — 129
ZRINRZ—| 1 11— 15 2 1122— 15 2 010— 15 2[215— 7 0 1—3 4
0.66666667 | 0.97674419
13— 15 13— 15 — —
8— 15 14— 16 15— 11 15— 6 5 — 5/130 — 121
=RMFEVAB| 012 — 15 2[ 2 15— 12 1 110— 15 2/215— 3 0f 2—2 3
1 1.07438017
_ 15 — 13 11— 15 —
15— 4 15— 5 11— 15 15— 1 8 — 2|/145 — 81
HINFAT [ 214— 16 1] 215— 10 Of 2 15— 10 1 215— 2 0 4—0 1
i 4 1.79012346
15— 7 — 15— 11 —
8— 15 4— 15 6— 15 1— 15 0 — 8 39 — 120
/N0 0 8— 15 2/ 0 7— 15 2/ 0 3— 15 2[ 0 2— 15 2 0—4 5
0 0.325
&= BINHA7
241 BN evy
3fii =iR/MFEvaB

X1HEBAD— 2564 BBa—F-3A&BCaO—- 5 BLIEBFaO—rEGRYFET !

Ad—h-EHE-FHESR

#: & B x B F — LA = ¥
Al | mpEs /NSy |1 — 2|  =Rpzg- B2HAD2F—L
Ba—hk-H&-FHEER
#: & B x B F — L = ¥
B2 | INEEB =R/MNMFEvaB | 3 — 4 | BNAAT AlRRED2F—L
Ca—hk-HE-FHEER
#: & B x B F — L = ¥
ca | pss B/ Sy ? 1 — 5 | B/ 0 FSREN2F—L
Fo—hk-BHE&-BHIHX
HEIE HEF— L = ¥
F5 | s =RMZE— |2 — 3| =RpFEvVaB C3HBED2F—L
KEF—LTRBZEELEOTLES !
F8 INEEB B/NTAT 4 — 5 @E/hEn FORt&ED2F—L
F9 INEEB BNyl 1 — 3 =R/ FEYIB F8EEM2F—L
F10 INEAEB =RINRE— 2 — 4 B/NTAT F11EE&02F—L
F11 INEEB =R/ FEvOB 3 — 5 E/hEo F108ED2F—L
F12 INEEB BNy 1 — 4 B/NAAT F138&n2F—L
F13 INEEB =RINRA— 2 — 5 B/ F12BED2F—L




